
Proportional? Oder doch nicht? 
 
Aufgabe 1 

       

Gewicht 
(kg) 

Preis 
(€)  Quotienten:  

   

1,5 6,00  6 : 1,5 = 60 : 15 = 4  Proportional?  

4,5 18,00  18 : 4,5 = 180 : 45 = 4   JA  SE 

0,5 2,00  2 : 0,5 = ...   NEIN  DI 
       

Aufgabe 2 
       

Volumen 
(m³) 

Gewicht 
(kg)  Quotienten:  

   

120 180    Proportional?  

30 45     JA  NO 

150 235     NEIN  EE 
       

Aufgabe 3 
       

Strecke 
(m) 

Zeit 
(s)  Quotienten:  

   

6 15,6    Proportional?  

2 5,2     JA  SA 

24 52,4     NEIN  LE 
       

Aufgabe 4 
       

Volumen 
(l) 

Preis 
(€)  Quotienten:  

   

100 32    Proportional?  

10 3,2     JA  FA 

270 86,4     NEIN  UR 
       

Aufgabe 5 
       

Menge Preis 
(€)  Quotienten:  

   

3 4,00    Proportional?  

5 6,50     JA  IE 

10 12,50     NEIN  NT 
       

Lösungswort 
       

1 2 3 4 5 

          
 

www.ingoostwald.de/index.php?id=84104 


